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/]_( Pick the odd one from the

following list :_
a) Spam

b) Trojan horse
¢) Phishing

d) Firewall

If Track's and Sectors : Hard
disk, .
then

TR : Compact disk.

Ramesh has written a C++

- program. During compilation

and execution there were no

errors. But he got a wrong

output. Name the type of error

he faced.

Declare a two dimensional array

to store the elements of 2 matrix

with order 3 X 5.

'Writé the full form of FTTH. (1) j 5.
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/6 < Which one of the following | ¢

Wil eI woes® @mose

@8 851 QN @16 ol @
connectivity? _ )
(V@O QIoET?
a) Make wuse of satellite a) MoReesnd 56 B 0 (R
connection YT P
b) Uses cable connection b) cmenid 5 6M B U (R
¢) Uses laser beam for e !
connection C) Dome,s” 2QPAUIDB  geimd
d) Microwave is used for 2EROTl eI
connectivity (1) | d) O6ns(wWoeanl OalCOw] o "
MBS’ G iy (1)
+""*//: . _
7, How manv times the following }/ BO8Y M@ Hem Qlal ag)(®
loop will execute? b

couti<“'Wélcgme”; cout<<" Welcome" :
mﬁ+;_ _ M++
} while(m>10); | ' (1) | } while(m>10) | (1)

Consider the following

- /8 2ides afley C++ G@QU@@@(%@@
statements.in C++:

sl fdles;om.

1f (mark>=18) 1f (mark>=18)
‘cout<<"Passed"; Cout<<"passed";

else
cout<<"Fai1ed”;

- Suggest ar Orerator in C++ .
Me® ololwes BU3NS LIBIMOL6IM

| usmg which the same output can |
MOWlBeRT C++- ge; 630
be produced. (1) _
| 0gC0Q0 Mldegudlens. (1)
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)/Pick out the software which

rearranges the scattered flles n
the hard disk and ;

performance of

Improves the

the system.

a) Backup software |

b) File tompression software

¢) Disk defragmenter

d) Antivirys software

R7/ l's complement of the binary

(1)

110111 agyem OIMOL Mmudleam

1's @ﬁ:&o@@@r@” QG) P05,

( m}gmm
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- 8 enlly ap.oey G FIme.) (1)

@)Y mm%&’!mﬂm?mwmmmﬁm% mlom)o
a0GW alridsleas

aﬂmyo?ce@?smwm

ADWE)) R 0w m%ﬂmﬂro‘é

b) 0@ @ofinud BIVORAGHIWA

d) @@@escuons CaVOAAGOIWA (1)
1#,1./Identifv the type of I_AN' %}/ EROMNIBD @ o 8MlalwWlss o
topology in which there are BN B MM ) (3 Sejaonigies e
more than one path between ES0CaL08ed] apmomemas ﬁg@mm&@.
nodes. a) qv"’gg(% _
a) Star b) oy
b) Ring C) omay
¢) Mesh d) -m_xfm” (1)
d) Bus (1) |
12, Express the integer number —39 12/ —39 agmm RPN OOV @MDY
/ In  sign  and magnitude | 2B WS SN led@lmnlwomo
repregentatiqn. (2) | 6).2.1Q) 6, (2)
13. Differentiate between top down 13, CSOa e WIOHAMo @enI0S6 @Rl
design and bottom up design in | Wloammio  monia @O0® 0o
problem solving (2) | OIS, (2)
14. Some of the iterals in C++ are | 14, C++ g ofler elg0en®: B mogw
. given below How do they differ? DEsBEIRAG BT, @oay EB0CIMMI0 oy
(5, '5', 5.0, "5") (2) | Ol ENcollesdienten! aleibarminm, ?
(5,5, 5.0, 75" e
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/5/#% student wants to insert his ] a0y laypd@males @I a@@;@m
' name and school address in the C++ alaoonld avjomo @aldyo
C++ program that he has =~ | 'm”ceaécfb @mm%(mgommgp B 21DH6EM
“written. But this should not . SO @Y(NaTIBNIMY. )Mo an
affect the compilation or CRleNdyof 06 OalCRIaYEMETDV
execution of the program. How Q@ﬁ;mqﬂeﬂééﬁﬂﬂ@m@m en10ufl 001008

is it possible? Give an example. (2) 0A0S1Q). 6D ag)euBeM TUOUJDILL0. (2)
16 Declare an array of size 5 and @l HHIINES B0 @O0 Wl
/ o initialize it with the numbers 8, 6ol 0w 8, 7,2, 4, 6 Oomﬂ]'mm@&ﬁa@
7,2, 4and 6. (2) paleworila] emlaueeiny 6011010

m@é C++ equpoa@ed ogeione.  (2)

. Consider the following C++ A7. ooev 'mm%c.e{]cnﬂggggc-i-+ ety
statements : ' . HBD aldlmerleand. -
char word[20]; o char word[20];
cin>>word; . cin>>word;
cout<<word; coub<<word;
gets (word) ; gets (word) ;
puts (word) ; puts (word) ;

N Mal)go@l M@BIM CTD”LS'IOU}JU-
"HAPPY NEW YEAR" agomoeem

Bl el@len)m 8V5allSidh

If the string entered 1s "HAPPY
NEW YEAR", predict the output

and justify your answer.

/Auggest most suitable built-in

function in C++ to perform the

(el N6, - | (2)

),8./(?5)06)‘57 v eoafofleleemm

(JUATD W H21QPUIM aRROILe

following tasks: @rmewomynow C++ -eal enlidg e

a) To find the answer for 5° 0 0630UMHB MIOEGURIBN .

b) To find the number of

characters in the string

a) 5° -e someo elEleedM

b) "KERALA" ag)om av(Slovlee

"KERALA" EREHYOEIBOS af)eRo el

¢) To convert the character 'M' c) 'M' agom @oe0eom 'm' @oes

6 'm _ - @0RIOMEIM -

d) To get back the number 10 if d) 100 agom maud eodnyengowf
e argument is 100 (2) M@0 10 aidleanalom (2)
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19, Make a ﬂOW-Chart Uusin
; g the 19 - o
given labelled symbole fo i9 w8 alegfldle;m mioemienge @
finding the sum of all evep | PO Aafdh (@5alenlof N
numbers upto '\ ' (3) |  T900IS8 mog moaymmes mue
' ' l Ceamgémﬂs%e@gm@?m{gg@ NS00 IORS
M1 e6)6. (3)
. . | #/
/ IS
2)
\ A>N
NG
b / PRINT
£ /
1)
—_ - OB BREIL) 851 o
Write an algorithm fo accept an .
integer number and print the Pl %@%é e Ml Tomlan
factors of it. OB SO R SOMEODIM Mg
_ @BRTEBUOT @0 0G)LID b,
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20. Define an array. Also write an 20, @re0 oMo ag)(? @reoefiesl 6o}
zlgorithm for searching an ogeflond  embalf 6010/ @
=lement in the array using any FHEOMBEMIM@IM NS @OTICUNORI®o
one method that vou are familiar . af)9I®yes. @R@IMOW]  miem e @\
with. - (3) | Mal@lall®maow B0 Q@] o
' Mflen@la)ds. (3) \\
\‘D% \
21. Brieilv exp.ain any three mobile Z1. cpemmleo MM ©00OOEU a
communication services. (3) |/  omyemiesnau®  mdelomysid
- oot ANoudlee @, (3)
Define Internet. Compare two sBreomg egmalend mlidaaimo %
“types of Internet connectivities . ALY, DB @, ca}auoauauoqﬁ - '
| | o)l MAOME demaSIallgl &6
namely Dial-up and Broadband. (3) NOO®DI0 6.2 Qs ' (3)
23. Predict the output of the | 28, oooy  m@eloldlesym  CHt L,
* following C++ statements : ' IR O LRIBHBIOS 8ogalls -
T I 1068 A\
inta=—5;b=3,c=4;/q‘7 L 3 _ | /
C += a++ + —--b: inta=-5%, b=3, ¢c=4;
cout<<a<<b<<c; (3)3 C += a++ + --b; |
; cout<<a<<bx<c; (3)
4. Follow! facts related | 2 11501 ~ 2o\
/2 . Following are some racts reiate :_ . SHMUYSOIONM 6D (LRI JaH MY MO QKL
’ to evolution of computers : | < amimwoias aoflal i_a_!cm”@ommcﬁ;o%% \
(Usage  of Transistors, l MO GalbEmICHOIM]
[ntreduction of Very Large Scale o b ((SOMMIMROIHBIOS ©olEWIWo,
Integrzted Circuit, Construction v OQIT] 210028 MO RGN
4
of ENIAC) /) - mdsysle@d ewamo, ENIAC
_ | / HHmuysdied aldomosmo)
Categorize these under ;f? . - - _
respective generations and o HAUOW @OMIEWIRIDIW  BHMIYSH
brieflv sxplain each. 45-' (3) 2lygelel et iy DU B S OTD)]
- S5 Bxoo®dle] QNvEld:Eies . (3)
- ¢ -
25. /Follow:~g are the numbers 1n | 29, aly@ynvmeo maud miguomies
various number systems. Two of MOBI MMUQIBW ®O6Y Madesiwfidlen (. v
the numzers are same. Identify . OUIE @6 MRS Al K
them . DO6M. @O aRODTN EHEENSOTNIH>.
a) (310), b) (1010010), a) (310), b)_%lo%ﬂp%O)z |
0) (C8),, 4) (201),, 3| 9 €8, d) (201),, (3)
' - % @06 €851
G R |
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OR

Consider the following Boolean
expression :

(B"+A)' =B A
ldentify the law behind the

above expression and prove it |

using algebraic method.

26. A function can call itself for

- 27.

28.

many times and return a result.

a) What is the name given to
such a function?

b) Write a function's definition

of the above type to find the
sum of natural numbers from

1 to V.
- (Hint : If the value of N is 5,

the answer will be
- 1+2+3+4+5+=15) '

Describe the different types of

- memories and memory devices

In computer with features and
examples

Write a C++ program to accept
an 1integer number and check
whether 1t is an Armstrong
number or not.

(Hint : Sum of the cubes of the
dlglts of an Armstrong number
is equal to that number 1tself)

OR

Write a C++ program to accept
an integer number and print its
reverse.

(Hint : If 234 is given, the output
must be 432).
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630} aneBadm @aonamecn afenso

- Qdlengge afiglal dlov@dg oo

OOUWIE8)0.
a) v AR (eodamlen,m

A06E UM B BET Modsslofldlemm -

Gol® af)(m?

b) 1 myodd N cueowies mmues

BIOS b Henslallslenimn ey
aD6BaM AlBQI2IMo af) P16,

(Hint : If the value of Nis 5, the

answer will be 1+2+3+4+5+=15)
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630600 WGl SumNeeIns Bed:
@) @Y MaUDd @am}@omﬂmﬁm&o).

@6 L8| @
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